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Merit  exemplar  for  90843  –  2016   Total  score:  16  

Q   Grade  
score   Annotation  

1   M5  

For  part  (a)  the  evidence  is  at  Merit  level,  because  the  candidate  has  fully  
explained  one  benefit  and  one  cost  to  RAD  of  giving  a  percentage  of  its  profits  
to  charities.  The  candidate  has  explained  the  “what”  (improved  reputation),  the  
“why”  (as  RAD  give  back  to  the  community),  and  the  impact  (more  customers  
and  increasing  market  share).  For  a  cost,  the  candidate  has  explained  the  
“what”  (profits  decrease),  the  “why”  (an  example),  and  the  impact  (restrict  
expansion).  

2   M5  

The  candidate  is  precluded  from  Merit  in  part  (a)  because  the  response  has  
not  referred  to  the  idea  of  timely  data  and  quicker  decisions  for  why  monthly  
revenue  and  cost  reports  are  better  than  quarterly.  
In  part  (b)  the  evidence  is  at  Merit  level,  because  the  candidate  has  fully  
explained  one  benefit  and  one  cost  to  the  managers.  The  candidate  has  
explained  the  “what”  (managers  have  more  responsibility),  the  “why”  (they  
more  frequently  see  the  revenue  their  centre  is  producing  and  the  costs  
incurred),  and  the  impact  (sense  of  empowerment).  For  a  cost,  the  candidate  
has  explained  more  time  and  effort  and  the  impacts  of  more  stress  and  
pressure,  and  decreased  productivity,  on  managers.  

3   M6  

Part  (a)  is  at  Merit  level,  because  the  candidate  has  included  the  features  of  a  
tall  organisational  structure  into  their  explanations.  The  candidate  correctly  
included  levels  of  hierarchy,  span  of  control,  and  chain  of  command  to  fully  
explain  why  a  tall  structure  is  making  RAD’s  operations  difficult  to  control.  The  
candidate  has  concluded  by  linking  these  difficulties  to  the  context  of  rapid  
growth.  
Similarly,  in  part  (b)  the  candidate  has  correctly  included  the  features  of  a  flat  
organisational  structure  throughout  their  response.  For  example,  for  a  
disadvantage  the  candidate  included  the  concept  of  a  wide  span  of  control  
leading  to  increased  workload  for  managers.  This  is  linked  to  the  impacts  on  
Sally  of  decreased  motivation  and  productivity.  
To  secure  an  Excellence  grade,  the  candidate  needed  to  expand  the  answer  
as  to  why  a  flat  structure  is  more  appropriate,  given  that  rapid  growth  was  
expected.  
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